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Converting from Scientific Notation Name:
Rewrite each problem in standard form. Answers
1) 577x10°
1.
2) 611 x 10
2.
3) 447x107
3.
0
4) 454223 x 10
4,
5) 4.03394 x 10°
5.
6) 3.05x 10
6.
) 409x 10"
7.
8) 5x10°
8.
9 33x10
9.
10)  4.19720509 x 10°
10.
11) 758x 10°
11.
12) 6x10*
12.
13) 3.18524373 x 10°
13.
14) 484 x 107
14.
15) 170556656 x 10°
15.
16) 95x 10"
16.
17) 8.46317826 x 10°
17.
18) .46 x 10
18.
19) 31x10°
19.
20) 42088675 x 10°
20.
h 1-10 195(90(85(80| 75| 706560 |55 |50
M at www.CommonCoreSheets.com 11-20(45(40|135|130|25(20(15|110|1 5] 0




ﬂh Converting from Scientific Notation Name: Answer Key

Rewrite each problem in standard form. Answers
1) 577x10° N 577,000
2) 611 x10° ” 611
3) 4.47x10? 3 0.447
4) 454223x 10" 4 4.54223
5) 403394 x 10° c 403.394
6) 3.05x 10 6 305
) 409x10" 7 0.409
8) 5x10° 8 500,000
9 33x10! 9 33

10 « 108
) 419720509 x 10 0 419,720,509

11 x 103
) 7.58x 10 1 7,580

12) 6 10°
) 6x10 12 60,000

13 x 10°
) 3.18524373 x 10 13 3,185.24373

14 1

15 x 10°
) 1.70556656 x 10 s 170,556,656

16) 95x 10"
16. 95

17 x 108
) 846317826 x 10 17 846,317,826

18 2
) 8.46 x 10 18 846

19 x 10°
) 3.1x10 10, 310,000

20 6
) 4.2088675 x 10 .0 4,208,867.5
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